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There is a 'Cool off time' of 15 minutes in addition to the writing time of 2 

hrs. 

You .are neither allowed to write your answers nor to discuss anything 
with others during the 'cool off time'. 

Use the 'cool. off time' to get familiar with questions and to plan your 
ans,vers. 

Read the questions carefully before answering. 

All question;;: are compulsory and only internal choice is allowed. 

When you 8elect a question, all the sub-questions must be answered from 
the same question itself. 

Calculations, figures and graphs should be shown in the ai1swer sheet itself. 

Malayalam versi)n Gf the questions is also provided . 

c:e ey_u2,t;ons wherever necessary. 

Electronic 0.evices except nonprogrammable calculators are not allowed 
in the Examination Hall. 
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l. Which among the following is 

NOT true about computers? 

a) Computers have no common 

sense. 

b) Computers cannot take 

decision on their own. 

c) Computers have zero IQ. 

d) Computers have no storage 

capacity. (1) 

2. 1s used as a source 

document for recording 

purchases return. 

3. Credit purchases are calculated 

by preparing ............. . 

a) Total Debtors account 

b) Total Creditors account 

c) Bills Receivable account 

d) Bills Payable account 

· 4. The creditors and bankers 

need qualitative accounting 

information for taking 

appropriate decisions. What 

qualitative features do they 

5. 
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expect Ill accounting 

information? 

Computerized accounting has 

some advantages over manual 

accounting. List out any four 

such advantages. 

(1) 

(1) 

(2) 

(2) 

2 

1. cfuonJJ.,130,y:ll::imJl 6llim.o@~~l' ®rm1ro1d16),s 

rmrumJlm'O (!()<01 ®1l~J::iCTl11ll® O{B®? 

a) Computers have no common 

sense. 

b) Computers cannot take 

decision on their own. 

c) Computers have zero IQ. 

d) Computers have no storage 
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capacity. (1) 

2. nJCOCl.g,,!CTUrn5' o1ci36'f't: ~C06lJ6)~S~(Q'(IT)2/YD 

®1m::imJ1 ..................... ~oo.ns CWl62.l 

~o.J ClCIDD(l)1,ej)\!P'; ~. 

3. LcfuruJ18 oJ&~.;,; '."."": :--~· m!ili6mmJJc00.i,nnaD' 

o@® ®llcmYG 6'.'"S cs ;r:: :JDcOOJ<T0®10J6lS 

w::i6ffi? 

a) Total Debtors account 

b) Total· Creditors account 

c) Bills Recei"rnble account 

d) Bills Paya.Cle c..ccount 

4. lcfuM1Clfi'?
0

CTDlm3c 2".JJa:b6dl:>cillcl3ti""\c 

5. 

~~®o:i::icw :oiiro3morn6iIBc'6 

6) 6l cfu 6l ttl> ::i filP CT6 w; Gm ::i ami db ai o (Q) 

o.Jlruro60Bcill m@OJCfllJm::iffil
0

• 

<1lmcB6YD60'516llB" OJ~ CJ C2 60B~1afb nffimD0 

(/) 6 6m nJ (l) Q) :) <W CT'G C.' :] CJO nS:1 <OJ cB:i §_:) 6ffi" 

aimru iO tnJ ®"\cW:J 1cB€16 rrrxm? 

cfu o nJ ,\J § 6) 6) 0 er c.fo.D
0 

((J)l) cS6) 'll 6ll'S1 613° 

m omJ ru am :J1Jd3€l'll6ffi16UB1 @m 

@() ClnJ cM{l _~c r. . .: eJ (8 Q) cm cB:i §6 ms". 

O{B6l®!:Bo1eJ60 \n'.)2:- (iQ)(Q)cfucJ/) Cl{J)<£'6®6cfu· 

(1) 

(1) 

(2) 

(2) 
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6. Ascertain the profit from the 6. ®on1ai1,B6\:Scrnrumflam m1rm" eJOiSo 

following : (2) ®1§@<J:j560TOJ6d:b. (2) 

Capital on pt January 2014 

Capital as on 31"t December 2014 

Drawings made during the year 

~ 16,000 

< 17,900 

< 4,800 

....__c_a_p_i_ta_l~in_t_r_od_u_c_e_d~o-n_1_s_t_J_u_lY_'_2_0_14~~~~-<~~2-,_o_oo~~J 

7. Given belovv are some Journal 
entries. 

a) Give Journal entries to these 
entries. 

b) Explain the type of discount 
mentioned in the second 
Journal entry. 

i) Drawings Ale 

(2) 

To Purchases Ale 

7. ®0@<9 <ili60-9d6 Glg\liD6ffiam %)cil>LS1&hc.ib 

®rrn1 ro1c00 .i,nn 6. 

a) @2':J ntD®ls'1a:iocmc00" @.aJo,i, 

o.Orua>Gmo mamc:Bo3d:b. 

b) ffi6fl'S::lill@®m agr,iib6IDaffi %)dl>LSlcllJlaffi 

l nJ @l nJ 0 B1 ~1 ro1 cOO ,J, rm ml° ajj ®
0 

Dr 

®(0(1)0)18.16~ 

o.Oruro~cOOJ,&h? 

1,000 

1,000 

[ ................................. ? ........................ : ........ ] 

Cash Ale 

Discount Ale 

To Nimmi Ale 

Dr 

Dr 

1,900 

100 

2,000 

[ ................................ ? .................................. J 

8. Classify the following into input 

devices and output devices. 

a) Optical pen 

b) VDlJ 

c) Printer 

d) Smart card reader (2) 

~nJd:loffi61D60Bcib %)ffi160 63':J~f nJJ§
0 

~nJcB:,ffi6ffi6D'Bcib Cl{j)rmJo ®ffio ®1ro1~6<fr>· 

a) Optical pen 

b) VDU 

c) P1°intcr 

d) Smart card reader 

(2) 

(2) 
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9. Consider the following fields of 

MS.Access and answer the 

questions. 

[vo~ch~r 1 

Voucher No. 

a) Here, 'voucher' stands for ..... 

b) 'Voucher Name' is termed 
as,. ..... 

10. Krishna intends to create a table 

in !\/IS-Access. Suggest suitable 

data types for the follo,ving 

fields. 

·Field Name I 

t Job Id a) 

b) Job Name 

c) Job Type 

(2) 

(3) 

d) ,Job Department 

l 
e) Job Unit 

f) Job Time 

11. 011 1"1 July 2012, a firm 

purchased a plant worth 

Rs. ·10,00Q.· The firm writes-off 

depreciation @ 10% on the 

original cost. The accounts are 

closed on 31 't December every 

year. If the plant is sold for 

Rs. 35,000 on. 1 s.t July 2013, 

prepare the Plant account upto 

this (4) 

9, 

i 11. 
I ·. 

I 

l 

I 
I 
I 

4 

Q8)0.rif!)CfU' (Gl'Qld£GDC:Ult:le.J ®m!1ffi1c%l~0:1 

r1D1 (i;1 ('J_) 6 <fh 6) @_ t:"L.! a{! (f) Gfn'1 I:~<> ((t) :) 6) ·~ 

m iO cm 1 wl ai'I ,oo 6 rm t& ill o B<\ £B rJO :H':i' 

~CTliIDCOo n(j)'-!?6®6£:.. 

r------~-. · .F ., ha ! L vo:=..J 

a) g!20.Ii6ls 'ru11ajdl@m' ........ nB)ffiJ 

w~@J<.0000. 

b) 'OJ'Dajdl6lrffl ~nJro18m' 

o€Jml"' ("Lng107:,;;·J. 

I 

I 
o; 

0 

I 
I '? 

J __ ~ ? 

f!<lJeJ:JciJ 1, 20
1

12 m S'ol'o6 cruno(drno 

40,0QQ aJ~n.JC\2J36)S i;j:::r:p, ClJ06'il3dffi\~· 
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(2) 

{4) 



12. Every transaction has two 

aspects which will be recorded 

in the books of accounts. 

a) Identify and explain the 

accounting concept referred 

to above, by giving suitable 

examples. 

b) Na:rrate a transaction 'vhich 

affects only the asset side of 

an accounting equation. 

13. The cashbook ·of Mr. Mathew as 
on .31/12/2014 shows a difference 
when compared to the passbook. 
The following were noticed in 
this respect. 

a) Credit balance as per 
passbook Rs. 30,000. 

b) Cheque issued but not 
presented worth Rs. 1,000. 

c) Tv:o cheques for Rs. 3,700 and 
Rs. 1,300 were deposited but 
only the cheque for Rs. 3, 700 

was credited by the bank. · 

Cl) Bank charges of Rs. 100 not 
recorded in the cashbook. 

e) Electricity bill of Rs. 700 paid 
by bank on behalf of the 
customer. 

i) Prepare a Bank 
Re conciliation 

(4) 

(1) 

Statement. (4) 

K-9 

ii) While preparmg a 
cashbook, the bank 
ovel·C.rnft will have ......... . 

· bala::Jce rn the bank 
coh:rc:n of the cashbook 
(De.:::i:iCredit). (I) 

5 

12. n{j)~ 0 

mm cf:16) 'lJ 6nSV 

~(06lJ6)~56®1ll002,6n5°. 

a) <Jlaiam nJ06'!'1llID 

~ (Jb (l)) 6) <Om) 

®D cOO'll 6n51 ~yf 

®1 <n1 aj o11>mml°, 

®Dffi6~CQJOi1J.ljQlOCQJ ~BOnD<06ffi 

('Jl)nD1®o nllrum1c00t,ceo. 

b) ((JYO cOO-iJ 6nS1 ~v (YU QJ ()J CJ d3o j ®lll16l ~ 

~(ll)"@1CQJ66l5 @()Cf)CT)(ID
0 

aJOl®O 

6l1JOWJcB6lJITD 63<ll2, g)2SnJO,S
0 

~<06lJ6l~SJ®lll2,cBo. 

13. 31/12/2014 m" mo@j2,ru16l~ 

d3ojO<rll
0

6l'llJ<flu\\O nJOCTD
0

6WJcOOJo ®a:m1am 

®O<O®!lljo @.D..lcir®~~ocib !2.11ei 
OJj®jO('Jl)~UO ~~®oC!lfl c:B:i6l61Ys®lll1. 

®06l<.Jl nJOCQJl,® cfuO<Oj~UO g)2®2,!llOmJl 

6W<TW6l<;i:J.§ m1<lildh9Jlc00t,nnt,. 

a) nJOmJ 6Wc1,c001am 30,000 <DJnJCQJc1,6lS 

lcB:icuJl8 011oei®mr ~s®. 

b) 6).!l.JcOOV g>nS:lj6 6l.D..1Clll®6 nJ6)~ 

6YlJOffi:>Jam lnJCTUdlf 6l.D..ICQJ®1~-1,000 

<OJnJ. 

· c) 3, 700 <DJnJcB6lt,o 1,300 

(() J nJ cOO 6 ill6~ (() 6115° 6) !2J cf:16) 6 c£b db 

6l1J om, 1 am m1 ~ cfh9:1 nJl 4'l 6. nJ <ll Gfu9:1 

3, 700 <OJnJCl2l,J,6lS 6l.D..lcOOJ aJOl@~l)) 

ld3oM1fl' 6l.D..1Wtm1~. 

d)' 6l1Jota," .D..IOm~cro" 100 <OJnJ 

d3oj OnS:1° 6YllJ.c001 am ~ <06ll 6l ~ 52, ®lll1 CllJl 

§1~. 

eJ 611Josa;' <Borru"RaiiOcOO' <llru6ll51 700 <OJnJ 

c£h0rilf .DJOiO~ mafi>c£b.?,('(O,J,. 

i) 63<1l6 6l1Josa;' o1c£bsrrocro1ell<llwnS:1® 
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(4) 

(I) 

~JQ.lR6laJdlf tmCQJOOOcOO,J,cfu. ( 4) 

ii) 63<l\\ cfhjOnS:l
0

mJt,cOO' ®CQJOOOcB6lJ. 

<ll ffiJ 0 cJb ' 6YlJ 0 ea; 630 OJ ro l CUl 0 n.0° 

R1m, c£biPml
0

6l1J6c001@ei 6Wosa; 

~c&.,O§.®lll1am ............................ . 

6l1J o e.i db rru" ce, o Gm1c006 o 

( cwffill8/tcfhCUJ1R) (1) 
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14. The following errors are noticed 

in the books of accounts of a 

trader at the time of preparation 

of a Trial Balance. 

14. LSWaTil 6YlJ02Jcfbmr ®CQJOOOcB8J/ffi 

mimwmm 63il\\ ru~onJoro1cw2,@S ffimc%Yn6f@' 

oJ 6 rnr CID cfu w.ID1 ro1J t?J1 '.) b! Y' nJ 0 CQJ J, cm 

6l®fi6d3:>00 \~BD1 c0061<J:j §1§l61'1'§. 

a) Sales book was overcast by Rs. 300. 

b) Salary paid Rs. 1,500 was wrongly debited to Wages account. 

c) Goods sold to Kavitha worth Rs. 2,000 were completely ornitted 

to be recorded. 

d) Rent amounting to Rs. 1,200 was received but debited to Rent 

account as Rs. 120. 

i) Pass the rectification entries 

for the above. (4) 

ii) Identify the compensating 

error from the above. (1) 

i) i1ldcBoglm'b CLJ06TC1ID1ro1r.00,i/m0Jmfc00" 

6l m; 86 ®1 ffiJ, 01'0\\ (ffi O{j) cfb l s1 ca, cfD 

mm'DcfuJ,<:B:i. 

ii) tDJ,cfu §1 nf6 oJ o Grm1)1 ro1 &6\~ an ru CllJ1 nf6 

mi emu ClcfuOo6YlJ cf0Ql<TU816ITT3° !j;QOffi 
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(4) 

nffi6l@OTl mil<ll1-9,J01CWJ,cfu. (1) 

15. Ali purchased goods for 

Rs. 30,000 from Stephen on 

pt January 2015. A bill was 

drawn for three months which 

was acc~pted by the drawee and 

returned to Stephen. On the 

same day, the bill was 

discounted with the bank@l2%. 

K-9 

Pass the entries in the books of 

the drawer and drawee. (5) 

I 

l 

J 5. arroeJl g\lffiJ,ruafl 1, 2015 am 30,000 

roJ0_10%) mr8"lnnm1am m1cm cruowm6liBoo 

C'J06lffi2,ffi)J,. 3 Ql:)ffi.l cfu0eJOOJW1<:0JJ,6lS 

mJlafli O{j)':?J,®6.:fu®J,o QllCWOCllJ1 @Wili" 

rruj'lcfuail~,{ m>"8~1n.nm" ais.m!1 

maffic£b6cfuW6o GJ.!2.lqmcmJ,. amJClm'l BJOJmJo 

®6lcm 6tlllafli 6ru8ffio 1 nf6 12 % <£!:o 1<.#1 oJl nf6 

Ml ITTcBoro61'1'§ 6l!l..lqmcmc1. <lll\1..DOWO c1@s© J,o 

<& l0JJO w'l·::W.J,6lSW6o oJ6ffil"®@Cimll1@eJ 

O{j)®lS1cBocili O{j)':?J,Cffi6rih. (5) 
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16. Some transactions relating to a 
business are given below. 

16. 63illJ, 6Yll1ffil1ffi%)J,lllOCQJ1 6l1JmD6l~§ 

@2So.J:JSJcB:icib ®on1m1tf}6),!/ffiJ. 

1. 

K-9 

2015 Particulars Amount 

Jan 1 Ca'sb balance Rs. 30,000 

Bank (Dr balance) Rs. 10,000 

2 Purchased goods Rs. 20,000 

Sold goods· to Deepthi Agencies Rs. 2,000 
CJ Cash paid into bank ·J 

cc i .321c:<' paid by cheque 

~~ithdravvn for personal use 

a) Prepare. a suitable cashbook 
from the·above. (4) 

b) Identify a special Journal 
where goods withdrawn by 
the proprietor for personal 
use worth Rs. 200 will be 
recorded. (1) 

OR 

a) Fill in the blank. 

"!:l::cr: ;;:__cd cc;:-"PY mto the 
bar:.:~ wonh Rs. 5,000". While 
posting the abc.,ve entry into 
the cashbook, this istreated 
as a/an .............. entry. 

b) Fill in the blank columns. 

Sr. Transactions 
No. 

(1) 

Rs. 5,000 

Rs . 3,000 

Rs. 1,000 

a) ~aiam nJ06'fll"®1m1c006rmrumflam oilrm" 

®Cl m 6 <Z CQJ:) 276,) Ill O CW c9o ,\ 8 o.'lJ 6QJ 2, cBuf 

, ®Cfil000,c002,cB:i. ( 4) 
b) CTUJcB:ioro,1 ((l'@ClJW,\®m1momfl 

@SCllCTU.Dd6 6YlJ1cru1m%J1m'6 m1cm" 

nJld6rueJ1cOOJITD 200 ((l~ClJWJ,6lS 

ffilOWm6ID36l§ o.@®
0 

mf 6lo.Jn11,)m'6 
~ @6 m 61D e.i1 e.t o 6m

0 

~ ((l &i 6l ~ s 2,@m 6c:6o 
nBYrn" <m1ro1~o1W2,cB:i. (I) 

llM)6)~ !&, 1a:i&. 

a) "6!2Joffi:>1~e.ice6f 5,000 ffiJoJ 

M~~OCT1)1rl° 6).!l.JW®6·" 
@2'~r 63(()6 w.,~ofi9f 6ill6d%l1oieic00" 

(8o.J:::>m)8' 6l!2J<:fil2,(gmJ()ciO ................ . 

o.tj)o'6ls1m;omfl oJ((l1CDGm1<0030. 

b) <mcmMoe€\\crnrumflam m1m) 6'Qps:h 

OJcfu0§60E cfb o.J~ m1 <J:Jlc00,i,ce:,. 

Special Journal in 
which it is recor:ded 

(1) 

i) Purchased goods from Cello Agencies Rs. 3,000 ? 

ii) Salary paid by cheque Rs. 2,000 ? 

iii) ? Journal proper 

iv) Goods sold to Biju were returned Rs. 500 ? 

(4) 
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l 7. Beena started business with the 
following : 

17. m.Jim @O@lj> (O)cm1ailc06),5tlno.J 

~nJ<llm>ow1.qJ mJkru1m<'Mj' @@)mo@ld3€16ffi\\· 

Cash Rs. 20,000, B{iilding Rs. 1,00,000, Bank balance Rs.10,000, I 
Furniture Rs. 8,000 and Debtors Rs. 3,000. 

a) Classify the above assets 
under appropriate headings. 

b) Ascertain her capital. 

(I) 

(1) 

a) 

b~ 

Ql6o3o@1 tTii CLI 0 srom1 m 1 d%) ,!/ID 

CT@<To(C)lceoo-:gi_ <llCQJOW.9.J Cl5lel6lcoo3lam 

@roo@1m1c003ce:.. 

mJlmW6@S a.i~eiwmo 
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(1) 

c) Arrange· them in the order of 
permanence by adding an 
intangible asset of your 

&h6md%)Od%16'e:'" (I) 

choice. (3) 

c) m16m3~@s gQroJsaim6m1rol~,f 61m6 
§2 crosodli~6Y1ll cro ar© mr®1@cw &i:il5l 
Cll1lr00 nJ06m"O)ffi1c:006(TDOJ~<WOS d:7.il§1 

Cl.!.l.l&cml CTUD1CD®CQJ,i})lS l~MlW®1af6 

ffi)@'.'A"Jlcfr,C01d%"J6<:€o. ( 3) 

18. The following balances are taken 
from the books of Mr. Biswas. 

18. awm1ro1d%)6m; EnJoe;®rro6&bc.iO m1. 

6l1fl CfOJO<ml@ rffJ nJ6 cru" 0l:Bo(00)1cefb m1 cm" 

ng)SJ,<ml13Z§3__§®06Trr 

K-9 

Particulars ~ 

Capital 83,000 
' 

Stock, 7,000 

Furnit_ure 13,000 

Sales 40,300 

Purchases 24,000 . 
'Carriage inwards 2,000 

Drawings 2,500 

Plant and machinery 56,000 

After making the following 
adjustments, prepare the 
Trading and Profit and .Loss 
accounts for the year ended 3pt 
March 2014 and a Balance Sheet 

Particulars "? ... 
- ----~-

Insurance 4,000 

Sales return 500 

Trade expenses 200 

Investment (1/4/2013 '.if 6% pa) l 10.000 

Sundry creditors 6,700 

Sundry debtors 4,800 

Bad debts 300 

Salaries 5,700 

® cm'l ro1.oo JITO am cuf 8:ll rnf R0

6l m oN,ctb@~ 
ceo~s1 c.6:>6TDcB€J16leJSJ,(G'I0)

0 2014 roo©.g,l 31 
6leJ t]LSrufiocou ~&7€J'D61156o eJO@mns:rs 

«Im <00 'D 6ml 6 o C1ro cg cm B1 OJ OU 6l @'ID 

as on that date. (8) 
6\1.JOeJcrom)nS:flfj,So ®WOOOd16l6®· ( 8) 

a) Stock as on 31•t March 2014 worth Rs. 20,000. 

b) Depreciate furniture @ 20(o 
' 

c) Salary due but not paid Rs. 1,000. 

d) Write-off Rs. 500 as bad debts and create a reserve for bad and doubtful 
debts@ 10%. 

[Hint : Interest on investment accrued but not received has to be considered.] 

8 1,25,000 


